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.مقدمة❖
.وخصائصهاالقدرة،الكترونياتعناصر❖
.اوميةحمولةعلىالطورأحاديةالمبدلاتداراتعمل❖
.تحريضيةحمولةعلىالطورأحاديةالمبدلاتداراتعمل❖
.اوميةحمولةعلىالأطوارثلاثيةالمبدلاتداراتعمل❖
.تحريضيةحمولةعلىالأطوارثلاثيةالمبدلاتداراتعمل❖
التضعيف-التقويةمقطعات/المستمرالتيارمقطعات❖
.Single-  Phase Inverters الطورأحاديةالقالبات❖
.Three-Phase Inverter الأطوارثلاثيةالقالبات❖
.القالباتخرججهدتنظيمفيالمستخدمةالتعديلطرق❖
.الستاتيكيةالتردديةالمبدلات❖
.UPSالتغذيةانقطاععدموأجهزةالقدرةأنظمةحماية❖

مفردات المقرر
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:t3-0المجال
t1نالزمحتىالتيارويمررأماميانحيازحالةفيالدايوديكون
.الملففيالمخزنةالطاقةوتزدادالتياريمر
.سالبا  الملفجهديصبحt1الزمنعند

عندموجةنصفالطورأحاديالتقويم
:R-L loadأوميةتحريضيةحمولة
إلغاءإلىللمقومالحمولةدارةفيالوشيعةوجوديؤدي

لأن،ةالحمولخلالمنالمارالمقومللتيارالفجائيةالتغيرات
لخلاالمغناطيسيةالطاقةتختزنأنهاالوشيعةعملطبيعة
إلىيؤديمماالتالي،الدورربعخلالتعيدهالكيالدورربع

تبينكماالصفرلنقطةعبورهبعدالتيارمروراستمرار
وتيارهدجبينالطورفرقأيضا  تظهروالتيالمبينة،المنحنيات
.الأوميةالتحريضيةالحمولةطبيعةعنالناتجالحمولة
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:t2-t3المجال
ويستمرالمنبعجهدينعكس
ةالطاقبسبببالتمريرالدايود
.الملففيالمختزنة
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:t1-0المجال
انحيازحالةفيالدايوديكون

.التيارويمررأمامي

نصفالطورأحاديالتقويم
سعويةحمولةعندموجة
:R-C loadأومية
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تغيرأيظهورعندالوشيعةممانعةتظهر
لتيارلمفاجئتغيرأيفإنلذلكونتيجةللتيار،
عنديختفيوشيعة،فيهايوجدلادارةفييحدث
.الدارةفيوشيعةوضع

𝐕𝐒 = 𝐕𝐦 ⋅ 𝐬𝐢𝐧(𝛚 𝐭)
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:R-L loadأوميةتحريضيةحمولةعندموجةنصفالطورأحاديالتقويمدارةتحليل
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الموجةنصف)سالبا  vSالمنبعجهديصبحأنبعدحتىiالتيارسريانيستمر
.الوشيعةتحريضيةبسببوذلك،(السالب

رير،تمحالةفييبقىالديودفإنالمنبعلجهدالموجبةالنبضةانتهاءعند
حتىملالحعلىمطبقا  يبقىالمنبعجهدلموجةالسالبالنصففإنوبالتالي
.t=عندوذلكللصفرiالتيارقيمةتصل
تكون،vR = i.Rالمقاومةعلىالمطبقالجهدقيمةأنالشكلمنيظهر

.iالحملعبرالمارالتيارلموجةمشابهة
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قيمتكونوبالتالي،i=0التيارقيمةتصبح t=اللحظةفي
يطبقوعندها،vL=0 , vR=0العناصرعلىالمطبقةالجهود
حالةفيالدايود)عكسيبشكلالدايودعلىvSالمنبعجهد
.(عكسيانحياز

القيمةإلىصفرالقيمةمنvdالدايودجهديقفزاللحظةفي
vm.sinحيث > π.هنا = التوصيلزاويةتمثل
.(الإطفاءزاوية)  للدايود

𝐕𝐒 = 𝐕𝐦 ⋅ 𝐬𝐢𝐧(𝛚 𝐭)
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:التمريرفترةخلالللجهودكيرشوفقانونحسب

Vm ⋅ sin ω t = R ∙ i t + L ∙
di(t)

dt

➢ The forced response for this circuit is the current that exists after the natural response has 
decayed to zero. In this case, the forced response is the steady-state sinusoidal current that 
would exist in the circuit if the diode were not present.

i t = if t + in t

القسريةلاستجابةاتكونالحالةهذهفيالصفر،إلىالطبيعيةالاستجابةتخامدبعدالمارالتيارهيالدارةلهذهالقسريةالاستجابة
.فيهاموجودا  الدايوديكنلمإذاالدارةفييوجدأنيمكنالذيالمستقرالجيبيالتيارهي

vS = vR + vL

:التاليبالشكليكونحلهاالأولى،المرتبةمنتفاضليةمعادلةوهي

𝐕𝐒 = 𝐕𝐦 ⋅ 𝐬𝐢𝐧(𝛚 𝐭)
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➢ This steady-state current can be found from phasor analysis, resulting in 

:حيث

➢ The natural response is the transient that occurs when the load is energized. It is the solution 
to the homogeneous differential equation for the circuit without the source or diode. 

if t =
Vm

Z
∙ sin(ωt − θ)

:يلياكمالتفاضلية،المعادلةبحلالمستقرةالحالةتيارعلىالحصوليمكن

Z = R2 + (ω ∙ L)2 and θ = tan−1
ω ∙ L

R

للدارةانسةالمتجالتفاضليةالمعادلةحلوهوالحمل،وصليتمعندماتحدثالتيالعابرةالحالةهيالطبيعيةالاستجابة
.الدايودبدونأوالتغذيةمنبعبدون
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فيلطاقةااختزاننتيجةالوشيعةوتفريغشحنعنناتجةأسيةوالثانيةجيبية،الأولى:مركبتينعلىيحتويالتيارأنأي
،التغذيةجهديكونعندماالدارةعبرسيمرالتيارأنإلىيؤديمماالجهد،عنسيتأخرالتيارفإنوبالتاليالوشيعة، وأنسالبا 

الدارةفيالمقومالخرجلجهدالمتوسطةالقيمةتكونولذلك،(t>180o)التغذيةجهدموجةنصفمنأكبرلفترةيمرiالتيار
تيمساحطرححاصليساويالخرججهدأنحيثالبحتة،الأوميةالحمولةذاتالدارةفيمنهأقلالتحريضيةالحمولةذات
.السالبوالجزءالموجبالجزء

For this first-order circuit, the natural response has the form 

:حيث
Adding the forced and natural responses gets the complete solution. 

R ∙ i t + L ∙
di t

dt
= 0

in t = A ∙ e−
t
τ

τ =
L

R
 ,  A = constant

i t = if t + in t =
Vm

Z
∙ sin ωt − θ + A ∙ e−

t
τ (∗)
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The constant A is evaluated by using 
the initial condition for current: 

t=0 , i(𝜔t)=0. 

Using the initial condition and equation (*) to 
evaluate A yields 

i 0 =
Vm

Z
∙ sin 0 − θ + A ∙ e0 = 0

A = −
Vm

Z
∙ sin −θ =

Vm

Z
∙ sin θ

vS vL=(vS- vR)
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0
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0

vd
D D

2π 3ππ

:نجد)*(العلاقةفيبالتعويض
i t = if t + in t =

Vm

Z
∙ sin ωt − θ + A ∙ e−

t
τ (∗)

i t =
Vm

Z
∙ sin ωt − θ +

Vm

Z
∙ sin(θ) ∙ e−

t
τ

i t =
Vm

Z
∙ [sin ωt − θ + sin(θ) ∙ e−

t
τ]
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vS vL=(vS- vR)
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:بالشكلللتيارالأخيرةالمعادلةكتابةيمكن

i ωt =
Vm

Z
∙ [sin ωt − θ + sin(θ) ∙ e−

ωt
ωτ]

للقيمةرالتيافيهايصلالتيالنقطةفإنالعلاقةهذهفي
.(off)الدايودتمريرعدمحالةتوافقصفر
تكونوالتيالأخيرةالمعادلةفيtلـموجبةقيمةأول
فاءالإطزاويةتسمىللصفرمساويةالتيارقيمةفيها

Extinction angleبالرمزلهاونرمز.
:t=بتعويضالأخير،المعادلةمنقيمةإيجاديمكن

i β =
Vm

Z
∙ sin β − θ + sin θ ∙ e−

β
ωτ = 0

⇒ sin β − θ + sin θ ∙ e−
β

ωτ = 0 

𝐕𝐒 = 𝐕𝐦 ⋅ 𝐬𝐢𝐧(𝛚 𝐭)
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Vdc =
1

2π
න

0

β

Vm ⋅ sin ω t ⋅ d(ωt) =
Vm

2π
∙ (1 − cosβ)

:العلاقةمنتحسبDCمركبةتمثلوالتيالخرج،لجهدالمتوسطةالقيمة

:العلاقةمنفتحسبالخرج،لتيارDCالمستمرةالمركبةأما
Idc =

Vdc

R
=

Vm

2π ⋅ R
∙ (1 − cosβ)

Vdc =
1

2π
න

0

2π

v(ωt) ⋅ d(ωt)
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Vrms =
1

2π
න

0

ωt

v2 ωt ⋅ d(ωt) =
1

2π
න

0

β

v2 ωt ⋅ d(ωt) :الخرجلجهدالفعالةالقيمة

:فتساويللتيارالفعالةالقيمةأما

Irms =
Vrms

Z
=

Vrms

𝑅2 + (𝜔𝐿)2
=

1
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1

2π
න
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(Vm ⋅ sin ω t)2⋅ d(ωt) =
𝑉𝑚

2

4π
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1

2
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Example: For the RL half-wave rectifier, R=100, L=0.1H, 
=377rad/s, and Vm=100V. Determine:
(a)An expression for the current in this circuit.
(b) the average current.
(c) the rms current.
(d)The power absorbed by the RL load.
(e)The power factor.
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